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N. B.: (1) All questions are compulsory.

»

MmO ao TR N

ol

o e

F

e o

(2) Make suitable assumptions wherever necessary and state the assumptions made.
(3) Answers to the same guestion must be written together.
(4) Numbers to the right indicate marks.

(5) Draw neat labeled diagrams wherever necessary.
(6) Use of Non-programmable calculators is allowed.

Attempt any three of the following: 15
What is Java Virtual Machine (JVM)? Explain JVM components.
Explain the following.

(1) Autoboxing

(ii)  Conditional operator

Define Identifier. Explain rules for identifiers in Java.

List of and explain any five features of Java.

Explain the following methods of String.

(i) length() (i) equals()  (iii) charAt()  (iv) compareTo() (v) substring()
How is main() method of Java written? Explain it in detail.

Attempt any three of the following: 15
When do we use switch-case statement? Explain it with example. '

List and explain the types of classes in Java.

What is a constructor? Explain characteristics of constructor.

Write a program to illustrate the concept of method overloading.

- What do you mean by variable arguments? Explain it with example.

When do we use ‘foreach’ loop? Explain it with example.

Attempt any three of the following: 15
Differentiate between classes and interfaces. 2.
What is a package? Write steps to create a package'in Java.

What is an interface? How can we implement interface in a class?
Explain the following with example.

(1) this (i)  super

e.  Write a program to illustrate the concept of abstract method and abstract class.
f.  Write a program to implement multilevel inheritance with default constructor in each
class.
4.  Attempt any three of the following: 15
a.  Write a short note on exception handling in Java.
b.  Explain life cycle of a Thread.
c.  How is a Vector different from an array? How can you create a Vector in Java?
d.  Explain the use of enumeration datatype in Java.
e. Define Stream. Explain how we can write binary data to a file.
f.  What are the different ways of creating a new Thread in Java?
[TURN OVER]
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Paper / Subject Code: 79101/ Core Java

5. Attempt any three of the following:

a.  Create an applet to display “Java World”, Change the text color to Red.

b.  Create an AWT application to create a frame with a Button named “Square”, a Label
and a TextField. Enter a number in the TextField .Click of the Button should display
square of that number in the Label.

C.  What is the use of LayoutManager? Explain GridLayout and BorderLayout.

d.  Explain the following Listener interfaces

(1) KeyListener (i)  MouseListener

€. Explain checkbox class along with its constructors in detail.
. What is the use of adapter classes? Explain any one Adapter class in detail.
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(2) Make suitable assumptions wherever necessary. an& sta;e ghe asg : £
(3) Answers to the same question must be wntteg tgggthe‘ > & ST,

(4) Numbers to the right indicate marks. A SRS .‘:;: ! ,’ G AR

(5) Draw neat labeled diagrams wherever nggesgagx,_‘ Pl e o
(6) Use of Non-programmable calculators xs altgg g S M el g

Attempt any three of the following: .~ < .~ = = 0. a 1
What is an embedded system? Classnfy embeddeﬁ systems deBd on,compleenty and"
performance. $ oo g
Explain the purpose of embedded systmis m data commumcatmn,, e o T
State the differences between Haﬁ?ard and Von-Ncumann architecmre
State the advantages of programmable logic devices o -over fixed loglc dewces
What is non-operational quahty mumb E‘xplam the warious non- apefauonar quallty
attributes to be considered jn ariy-embedded ¢ system Aeszgnf’ ““ -7\ <

Explain the sxgmﬁcance:*o\ quamy attnbﬁtes mamtamab'

design context. & 2 . : N

Attempt any three of ﬂle feljuwi,ng. AR T , . 15
Give an overview of" thé \varmms types of electmmc controi “units ¢ mpIo'yed m
automotive applmatlons s g A :

Write a short note on; mcmory map il il o s
Explain the role: ofwatch dog timer in. embedded sy stems o
What is the: puf'pOSe of mémory {esting i in émbedded s“‘ystems‘?

State the i rmponance of“dewcedriven, o

What is'the mgmﬁcance ofmqmm‘y in embﬁdded ﬁrrﬁfvarc/systcms‘? What is on-chip

memory and off—»chlp membry? Explmn FLASHmcmory in brief.

& Aﬂetnptw ot the fnilowmg ot 15
" ‘Compare and sdntra%mwraproa%mr anEI mxcrocontroller

- List and explani the. data types of8051-

- = What'is port. 07 Explain the dual roleof pnrt 0.

Wrrtéjn Bmheddedb “prograti to- toggle all bits of PO, P1 every 1/4 of a second.

y 'i{'Wme afl embedded C 1 ‘program to count up P1 from 0-99 continuously.

Wnte an embeddedc pmg}:am ro convert ASCII digits of ‘4" and ‘8 to packed BCD

and glisPlay them on Pl

A .‘ '
LY g "“'

\_\ .7, ‘.A_i e

e~0f the followmg 15

.'?List, and explamﬂny five factors to be considered in selecting a microprocessor.
- Draw‘tbe, a:tchxtectlmal block diagram of 8051 and explain oscillator unit.

erte a shm;mate or mﬁmte loop.
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Briefly explain the structure of embedded program with exampi
Describe the linking process for embedded programs. :
What are remote debugg%risg 11‘30?6(511)"31“9 CATTATIO? ;\m&ﬁ
Attempt any three of the following: 3 '

Explain the difference between the memory mamgemgﬁt of\gqigm@uqﬂse-kem"]
and real-time kernel. KAV Kode g o g \
What are the various functional reqwmentk &iatneedsgo K@ev.aluated m;thé
selection of an RTOS (Real Time Operatmgﬁss%emi‘? Tl A DT
List the types of files generated on crosk-cémpﬁa an &
Explain the advantages and limitations of sﬁpu@iqr e
What is EDLC? Why EDLC is essefitial in megti{%gtmch:@ QéVe opr:fraat

-
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Paper / Subject Code: 79103 / Computer Oriented Statistical Technujlge TS
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(2% Hours)

N. B.: (1) All questions are compulsory.
(2) Make suitable assumgtlons wherever necessary and

(4) Numbers to the right indicate marks.
(5) Draw neat labelled diagrams ‘wherever necessa :\

(6) Use of Non-programmable calculators is allg'vﬁyg"' a5 o

1.  Attempt any three of the following:
a.  Define the following
i) Range  ii) Quartile deviatlon

b.
distribution of 542 members
Age (in years) | 20-30
No. of
members
c.

persons s B

Marks mofeﬂn@n T 120 530 8 5(’1‘“ 60 [ 70
Numbe(pfswdg‘nts “‘ e 178 Lot o1 | 112
e. Find the' Gégmemcnmem for the»foﬂqwmg d1s(rxbuﬁ'&n
Marks® .~ TS0 10. [ © 1090 5 | 2030, 3040 40-50
Ng..of “‘-;S' 7 R REA 25 8
_ §tr1dems : e S

".‘\.

> Class

I{l‘l 31“ R0 0 10 30~40 i A 80-90

: 25 5 | 9 6 3 5

> 2 3 ;Attempt ggz th‘rgg of- thg’;{ollowing 15
: o @btam Kaﬂ Pﬁarsém $ rﬂt; "‘s i leé of skewness for the following data

N \}\ \

10 15 15-20 20-25 25-30 30-35 35-40

[TURN OVER]
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below.

Class 110- 115- 120- 125- ;
limits 114.9 119.9 124.9 1299 |
Frequency y

A"

games. Create a Venn diagram and then determm& the Pl‘flba’fﬁl‘il;._ \
selected at random. el

. Waitch all three games g'w.‘f f ,
II.  Exactly one of the thrcb games

If a pair of dice is thrown and X denotes the sum- of the numbers on‘ t;hem\ Fmd the
probability distribution of X Also ﬁnd the expectauon of X 3

A random sample of 400 men Ls f@und to haVc a mean hexght of 69 2 mches*and a standard
deviation of 2.7 mches Fmd AP 0 D ST

a) The95 pereént c@nﬁdeme iimlts of the true average helght
b)  The 99 pert:ent coﬂﬁdehce lmnts of the truc avera.ge Kenght

i .-,=..
. . '-‘.*‘

Attempt ang& ree ﬁ‘fthe foﬂﬁwmg SER FEBS S L .
What is hypﬁth@Sm teSt? Explam types of hypothesm Explﬁm level of significance.

A random sa;mple o‘f IUG balls selectcd from a Iarge cortsignment of cricket balls gave
10%: defecnve ba}}s Flhd“%% conﬁdence lumts for the percentage of defective balls in
the c@nﬁlgnment Ao P DA

v A surVey of 40 rqttredWomen revealed the mcan age at which their income was maximum
o .to be 45 years wuh & sfandard deiuation of 6.3 years. Find 95% confidence limits for the
g *:.' -mean age ofmaxlmum earnmgs of women Who survive till they retire.

o .A car manufacturer Clalm‘s that 40% of all cars built by his concern will be still in running
= ﬁondltlon after 10° years A fandom sample of 400 cars built by his concern showed that
o ; 15(} cars were stlil in runmng condition after 10 years. Test the claim at 1% level.

RIS [TURN OVER]
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Paper / Subject Code: 79103 / Computer Oriented Statistical Techqj(i;;é‘éﬂrr VAT .,:
e.  Obtain 99% confidence limits for the population mean using the fQHOWlﬁg sarpple
observations 3 B SEODELL \_,_ L_‘i‘-
Number of 0-100 100200 | 200- 399/550__’9 400 500 S
bananas 3005 & & 8 Sl H P
Number of Trees 2 11 ISR RS IR AR 5 >
. Form the given sample of 100, 35 are working as a professor’ Consh'uc’n a 95% Qoqﬁdence- y \
interval for the probability that almost most of the educatmn people frem the sample ges o 3
working as a professor. SOk e s :—(H-‘
4. Attempt any three of the following: LN SO S S 15 :
a.  20% of apples in a large consignment are found to be bad; For the probabilityﬁ)at at Ieast it
25% apples are bad in a sample size of 400 drawn fron:i 1t R SIGIS R A OF S

b. It is known that 30% male adults are unmarned in: a certam mty A Sam‘ple ofil 00 male
adults is selected at random from the city.. Fmd the chanee that tbe sample melu&es

D 1) 25% to 32% ii) at most 33% of an unmarrled male adults F ‘-», 3
P 3 w. \ o1
¢.  Twenty sample of size 100 each are selected from a Very Ia:ge cohsxgmnent of blades
' Find the expected number of samples that will have at. least‘ 14~ defectwe blades if the
consignment has 10% defectwe Blades. " ¢ TS SR

d.  Inan experiment of 1mmun1mhon of cattle fmm tuberculosts thefollqﬁviﬁé results were

obtained. YK : : :
D Affected Uhaffected' N
Inoculated IS NI W
Not mocmated % PR 0 eV KT g
Examine the eﬁectlv‘e Uf vaccme in control‘the mcxdence of the disease at 1% level of
significance;” ~ ; T84
. g‘}» :.'\"

e.  Using'the data g:ven m below table to deelde whether we can conclude that standard of a
salesman “has SIgmﬁcant effect on hD performance in field selling at 5% level of
b sr.gmﬁcante g

L '.Pe;-'fd:‘:manc'e in ﬁ"el;'i \ Total
s T "Dlsﬂppomtmg Satisfactory | Excellent
e _Pdor'_dtes‘sed-:{  f 2l / 15 6 42
Wen',dreﬁscd f;; 024 S 26 85
. 'Very We]l e L 80 58 173
: | dressed | ST
Aol -‘_. 30 130 90 300
[TURN OVER]
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f. ”A X &/ ‘.
Two sample polls of votes for two candidates. A and B fora pubhco‘gﬁw%teaakén}w b
from among the residents of rural areas. The results are given zﬁtihe @%ﬁmﬁk ¥

Examine whether the nature of the area is related to voting preferen: in'this election. .

Area Votes for Total ~f &

A B
Rural 620 380 1000 -
Urban 550 450 1000
Total 1170 830 | 2000 °

5. Attempt any three of the following: &

a.  Fit a straight line trend value for the foIlomngsenesEsﬁrﬁate”theﬁumber prmwgluctx i

L

units for 2002. &S o
Year 1995 " TT096  [1997 11998 1999 3000
Producion [ 125|128 1337~ 13% ~ 0
unit S NP o

2001
S

b Fita parabola for the givendata - - o
X 5 —

¢.  Explain the following SR A A
i) Coefficient o\fcorrp‘lanon g3
ii) Standard Error P EStimate . < S LT

d.  The following datél;fei&téﬂ@,@dﬁ,-ﬁ%q‘salés;f":
Advertising | &' 5P 2 5L o RO S I
Expenditure > &= ov & 20 )0 8 S 08 o
Sales 4~ 00 S (& e TS B S0E
Obtain the'to, regression equations, ~~ © == "
. The marks obtained by 10 studénts in Mathematics () and
Find the cocfficient of correlation between X and Y. - -
[ Ne™ e o prel fe

40

P RE TS 35 T 15 3 38 | 48
LN 1763 | 351 43 1 451 a4
qu’?, \;a;ﬁlfeg:feé"‘si"cjn equation of y on x was found to be y = 0.25
750 find 95% and 99% confidence limits for the regression

£ Onthe basis of a sampl

~ +2.00x. If 5y= 3 dnd o,

coefficient.

Page 4 of 4
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Paper / Subject Code: 79104 / Software Engineering 2,?*}09 IS

Sem-T_  APRIL 26l9

S\“( 6.} 3 (2% hours) ST T S
V.A':Tofa"l' Marks: 75 -
N. B.: (1) All questions are compulsory. PG ES LS \ 5

7o o e

@

‘R Oc" &

2 Makesuitable assumptions wherever necessary and stafg fhg assu;g’n; i_bns.ma‘de.‘
(3) Answers to the same question must be written togegm; & A

Ny

(4) Numbers to the right indicate marks. ok
(5) Draw neat labeled diagrams wherever necessam
(5) Use of Non-programmable calculators is allo_\_ggg

Attempt any three of the following: F ik VG
What is software? Explain the characteristics. o‘fsoﬁWare TWFE FSSF IO UES
Explain software devclopment life cycle (SBLC) with the hélp qf dlagram.' Sy S

Define software engineering and its layer w1th the: help of dlagram

Write a short note on TR XL ST x 7 Hg
1. RAD Model LN AR A
2. TimeBox Model PO SN P S EE IS .::;—_
What are functional and non-functlonal requlremems m soﬂ:ware? O

Explain the three phases in SCRUM for ange project managhmen; o : ¥3

Attempt any three of the fallnwing l Yy J"g;’ i o eb 15
Describe the different stagesof systemengmeenng\process‘ S
Explain the 1mportancgmbf system dépenda{ﬂ]ttx and the causes offalh.ire in system
dependability. \

Explain the legacy sysien‘i m scocjo techmbal system that contmaes to prov1de essential
services. AIXES g

Explain the proceas  of mqmrement engmeermg bnefly

Explain USE.Casé diagram With online shopping: Web customer actor uses some
web site to make purchases online. Top levels USE CASES are view items, make
purchase and client register. View items use case could be used by customer as top
level use case if customer only wants to find and see some products. This use case
could also be used as a part of make purchase use case. Client register use case allows
customer to reglster on the web sxte, for exa.m[ﬂe to get some coupons or be invited to

private sales. =~ < o . <

h-"EprauT brleﬁy legacy System tategones and 1ts ‘Assessment with the help of example.

A‘ttempi u 1_: of the followmg* S 15

+ Define-architectural design and: exp]am the functions of architectural design.

JExplain the thre¢ rules for user interfuce design process (UID).

= Explain software project management briefly.

S Bneﬂy C"fplam the\nsk Jdehtlﬁcati(*m and the types of risk in the process of risk
e managqment ;r-‘"

e - Explain fhe\ﬁmdtmhs of quahty assurance and its standards.
b Pl De acnbe why mxs lmportant to measure the software metrics.
LG : [TURN OVER]
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Paper / Subject Code: 79104 / Software Engineering

4. Attempt any three of the following: %

a.  Explain system testing process. A o

b. Explain briefly verification and validation (V & V) process. = - S 4
c.  List and describe the static analysis check points involved in ag_ﬁomated gtat,gc; ' > S =y
4 Write a short note on size oriented metrics of software measm'elhtzﬁtﬁnﬁ“ ﬁnci*th‘e eﬁ'ﬁt

for the project, assume that 310 FP (functmn point) are cstﬁmlﬂd motaLzanﬁ ver@g‘e
productivity based on past projects is 5.5 FP/person-momh. ;
e.  Explain any one type of metrics to estimate the soﬁware p{ﬂﬂuctmty.
| Function points & o
2 Object point S
£ Calculate cyclomatic complexity using the con@ﬁlow dlagtam formthe gweﬁ‘ SESL
example: i VIO
IF A =10 THEN
IF B> C THEN
A=B
ELSE
A=C
ENDIF s
ENDIF o )
Print A 4
Print B _«: i
Print C >

5.  Attempt any three of the fo‘.[lq‘mng ; 15

a.  Explain process and- ‘quality. ; = >

b.  Explain the dlfﬁrent,‘ évels-of CMMI (capab;hty mauu'lty model introduced)
framework. < . I o F & |

¢.  Explain briefly WSDL (web-@crvme deScnpn@n language) |

d.  What are the benefit and,pmb}em oﬁmubm g software?s -

e.  Briefly desgrib‘e menqnc_ept of SOA (serv{ce oriente archﬁectme) and the benefits
of SOAs =

£ Wit asﬁm

ote on SaBaSis%ﬁware asa Servmg ’lﬁ'ga {;’5

Page 2 of 2 l
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Paper / Subject Code: 79105 / Computer Graphics and Anunatlon“

W’
PN

SUBIIFCRERE  ATRIL 13

(Time: 2% hours)

N. B.: (1) All questions are compulsory. ‘ﬁ:’g‘:’ N

eo o =

o
¥ e '"pnueetion n detaﬂ\,\ r gl

(2) Make suitable assumptions wherever necessary and state t_ ¢ ass
(3) Answers to the same question must be written togg[ger. &
(4) Numbers to the right indicate marks. ' e A
(5) Draw neat labeled diagrams wherever necegﬁ”g‘y.. I &”
(6) Use of Non-programmable calculators is ﬁl___eﬂ. S

,

l\' -t
\

Attempt any three of the following: ‘:': © s i TS 3 SR
What is computer graphics? Explain computer graplﬂns ap e S
Explain the operation of CRT with a neat labelled dxagram > ~" o e
Distinguish between raster scan display device - and randont sean’ dﬁfplay Qewce.'.; e
Consider a line AB with A= (0, 0) and B’=5 & 5 5) Apply a serlB DDAaalg@rlthm ‘a.nd
calculate the pixels on the line.
Explain the acceptance and rc}ectnon test usmg blt qodes in Cohen«‘{imheﬂagd lme
clipping algorithm. List the steps oﬁhe algémthm and‘give sultable e)tamp‘le to‘éxplain
the concept.
Explain Liang-Barsky alggnthm fbr chppmg ~a hne andQ@ls;) fmd the clipping
coordinates for a line: PQ Wwhere P=(10,10) and Q‘“(60 30), gamsg window with
(X\vmm,}’wmm) (15 15) aﬂd (xwax,ywm)ﬁ(ZS 25) oV i B

Attempt any tkrge of the fgﬁowmg A _“'..: ST 15
Describe transform‘gﬁhnsand matrices in detaﬂ g BV e S e B
Using homogsncous c‘oordm@te trahsfonnﬁtlon matnx mtate the triangle ABC with A=
(2. 3), B= (5, 5);and €=(4,3) by an angle 45%about the point (1, 1).
Write a short note onl reflection throughan arbitrary line in-brief.
Shear\g umt égbc mtuated at orngm wuh a shear transformatlon matrix:

SRTE OIS ST FILW SED, 8%., 25 0
TSN \"T;h-ear- = frerssse, _A
= ";_-_;N-?'L-f" ; 05 L S 0
Y. TRl P .;"‘" 0 \0\\ 0 1

& R

Dc ﬁne vamshmg pomt and: al"so explam Vamshmg point in different perspective

Wha;i»s meant by vIew volume‘7 Explalmt with different types of projections.

3 ‘:At£eant gy_ﬁm of the following 15
ey o X plainmth neat 1abelled dmg.ram stages in 3D viewing pipeline.
B B plam dlffetent coox:dmates systems and matrices in detail.

Whgt is'light’”. Explain Radmmctry in brief.
Explam dlﬂ?ﬁl‘eﬂt _p perties e‘f Bidirectional Reflectance Distribution Function (BRDF).

SIS ‘r:___{; S E [TURN OVER]
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Paper / Subject Code: 79105 / Computer Graphics and Animation' .~ =7 = 7 o
Explain any two color spaces in detail. A;“ FFTE : ”
Write a short note on chromatic adaptation. "

Attempt any three of the following:

Write a short note on back face removal technique. s B o
What is meant by BSP trees? Explain algorithm for constructmh of it {mmexm;’;‘lg'
Explain visible surface ray tracing in brief with neat labelled diagi‘amw p

Explain parametric representation of hyperbola. w k
Explain implicit and explicit curve representation in detail." - ,
Explain Bezier Surfaces in detail and state it’s any ﬁveprbpertws S

R
S

Explain different types of deformatlon in detaik .
What is an Image? Explain any five image formats‘
Distinguish between lossy and lossless eomprcssmﬂ. S
Explain the concept of histogram eqlmhmtion Eth;zé fh fe\
L=8. o

Gray Level | 0
No. of 790
pixel
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